Rl PEFERN

KRIEPEIESE D0, HIER R L
T EREF
x5 T35 - FESL4 FT7E X EAE A IR T i 5% TR JE it 5 B AL PUBHERE B | BEH T AJREE | 3 L uE e
BN (ng-TEQ/m°N) | (ng-TEQ/m’N)
1 H8. 7 TR = ASERYERME | 1,75 t R4. 5. 25 0.016 5
R4.5.27 0. 0094 5
9 H5. 8 TV =0 LG e RS RE 8 t
R4. 5. 27 0. 14 5
I RN AR R K [ TN S g Y iﬁ&Tﬁﬁm R4. 5. 24 0. 0098 1
3 ERIA H17. 10 TR = AAAREERE | 12 t
R4.7.27 0.016 1
R4. 5. 30 0.014 1
4 R1.7 TV = WAL RYE YRR 30 t
R4. 5. 30 0.10 1
R4 9. 30 0.5 5 MiF%5, 6,7, 8,9, 13[FIRFRME) GAIES T  TAMEIF A E R e
. - : EEREH )
5 S55. 10 TV = NA LRI TR RE 60 t
R4. 4.6 0.14 5 HUMERE (HESLHT - MR R R R )
RA. 9. 30 0. 95 5 MiFx5, 6,7, 8,9, 13[ARiR{E) (HEHAT « WA E RS
. e ) EEREH )
6 S55. 6 T = A e G s R E 30 1
R4. 4.8 0.38 5 BMERE (HEBPT - ER RS O)
RA. 9. 30 0. 95 5 fiF%5, 6,7,8,9, 13[FIRFRE GRIES T « TARENF IR E R AE
_ . e ) EEMEHI O)
7 S58. 6 TV = U LG A REERMIE 8 t
R4.5. 26 0.12 5 fiE%7, S[EIRE RS (GRIEEHAT « AR B R BRI )
RA. 9. 30 0. 95 5 MiF%5, 6,7, 8,9, 13[FIRFRE GRIES AT « TARENF IR E R LR
< A o ] S i T ) EEMEHI O)
8 S58. 6 TV =7 ARG R E 3 t =
R4. 5. 26 0.12 5 TR, 815 I A8
T ) (RIE S P Tafig ) SR R AR A L O1)
R4 9. 30 0. 95 5 Mis%5, 6,7, 8,9, 13[FREE) (HELAT | IWHEIFIARE RS
e ‘ EEMEHI 1)
R4.4.18 0.23 5 B CGRIES AT - ARl R R R BB 1)
9 S58. 10 TN = AE SRS IERIE 15 1
R4.4.12 0.41 5 B (RIESPT - R RV O)
MRS T VI =0 AT BT |l IgET R4.4. 11 0.38 5 HmEE GRESHT - MEREEEHO)
10 H1. 4 T = A AR v R 15 t R4. 10. 14 0.11 5 g% 10, 12, 15[F R 8 (RIESAT © 2 0 mi#Ese)
11 HI. 4 T =7 N AR v R 4 t R4. 4. 12 0. 045 5 BEAMRE CRIESSAT - EiRfEEEEH )
R4.10. 14 0.11 5 fig 10, 12, 15FIRERE GAIESFET @ 2 0 m/di%e)
12 H1. 4 TV = AAA RIS VR AT 15 t
R4.4.15 0. 47 5 BARRME) (RESET - R RTEEE )
R4. 9. 30 0. 95 ] fi7%5, 6, 7,8, 9, 13[EFFEME (GRIESHAT | IRARIF IR RIE
_ | e : EEMEHI )
13 H24. 6 TV = AAA RSV R AT 36 t
R4. 4.5 0.028 1 HUMER @ (RESGHT - WP R R B )
14 H6. 4 TV = NG ARG TR RIE 4 t/h R4. 4. 12 0. 0094 5 B (WESAT « ¥ 74 MEEEH )
R4.10. 14 0.11 5 ftia% 10, 12, 15[RFFfE GRIESAT © 2 O mfEZE)
15 H2. 11 TR = AL RIYERMRE | 2.5 t/h
R4. 4. 11 0. 40 5 B (RIESAT - BRI R O)

F 1 REIEEGE

HAfER (PEZER) 1/2



IR D720 JIERIRZR L

T EREF
x5 T35 - FESL4 FITAE H1 FREAE A IR T i 5% TR JE it 5 B AL PUBHERE B | BEH T AJREE | 3 L uE e
BT (ng-TEQ/m’N) | (ng-TEQ/m*N)
o R4.7.11 0. 068 1 BEARRE CRIESSFT - HEREHSEHD)
16 H27. 4 TV =0 LA ARG TR IR 20 t
R4.4. 11 0.15 1 BAREME) GRIES T - AR R R BB 1)
17 H3. 11 TV = NG ARG TR 10 t R4.11. 14 0. 055 5
18 H3. 11 TV = AE ARG VR 5 t R4.11. 15 0. 029 5
19 |[EXEts v o FHEATH R RIERT H14. 4 T = NG ARG VR 20 t R4.11.16 0. 0099 1
20 H14. 4 TV =0 AE RIS TR R 20 t KIEH
21 H17. 11 T = AE ARG VR 3 t R4.11. 17 0. 041 1
R4.6.9 0.10 5 F-11
22 S48. 4 TV = AA A RS iR AR 65 t
R4. 6. 14 0.21 5 EEX 7 b (fERE22~25THiHE)
R4. 6.8 0. 20 5 F-12
23 S48. 4 TR = AA A RIS VIR AT 40 t
R4. 6. 14 0.21 5 ELEX 7 b (fERE522~25THi#E)
R4. 6.7 0. 029 5 F-14
24 \ 3 H2.5 TR =0 AE A RIS TR IF 34 t
HEET AL —T VISt Z&EIH A AR BT R4. 6. 14 0.21 5 ELEX 7 b (ERE22~25THiE)
R4. 6.6 0. 024 1 F-13
25 H29. 10 TS =0 AE ARSI 22 t
R4. 6. 14 0.21 1 EEX T b (FigkEH522~25THi@E)
- _ N RF-2  ([Rl#547)
26 H26. 5 TV = KNA4A s v i 5 t R4.6. 13 0. 0055 1 ) e .
VL a e RGP IR (276 5226, 27C 2L5)
~ SR — R_l (Eiﬁi’)ﬁ)
27 H16. 7 TV = BNAA RIE v i 1 t/h R4.6. 13 0. 0055 1 ’ R .
v L e e RIERIRE / R (R 26, 27T 35im)
28 H29. 10 TV = AL R AR 3 t/h R4. 6. 10 0.010 1 KL-1 (¥7i8s)
29 H5.9 TV =0 KNG RLE R 20 t R5. 1. 27 0.0011 5 ELEX 7 b (fERE 29, 30CTHE)
I W S W Sl oy B L PR H
30 H5. 9 TV = WAL RYE YRR 10 t KIE
Slﬂﬁﬁ”ﬁtﬁw P H16.9 T = U LE e REER 3 t R4. 12. 27 0.017 1
PRV i AR H
32 H17.5 T = LG e G RRIE 2 t IKIEFR

®1 REEWEEMER (EER) 2/2




